oH (200) K2R X = St (230) RS AR S HIg: (234) =2 ool ®e
28 A = . Ofl & O ree = = =
200
NE=E=PNE= 20,035431| 20,128,822 93,391
230
SEHTAES 18,643722| 18,186,430 457,292
234
1= 18,613,222| 18,169,180 444,042
401
A& HI2 =2 H| 18,613,222| 18,169,180 444,042
18,536,442| 18,097,687 438,755|401-01 (Al €HI)
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1,429,000,000& X 99.64/100
(Xl 1,000,000)
(& 129,000)

(Al 294,856)
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B (200) HHEH KIS 5t (230) B KHAHE S M (234) 2 =S CERED
o =
—— - 0l & 94 ﬁigj HDs2 I -
O SOE MBBANLAY (240 2472
1,000,000,0008 X 99.37/100 = 993,700
(X 700,000)
(£ 90,000)
(Al 203,700)
O BANAT DEFAHRIAE X2 A 1,671,000,0008 X 99.64/100 = 1664985
(Xl 1,170,000)
(£ 150,000)
(Al 344,985)
O U4EXY Hes 2ENLAL(ZH)
220,000,0002 X 99.28/100 = 218416
(91 110,000)
(Al 108,416)
O LsXA™ ANEHLAAY 800,000,00080 X 99.37/100 = 794960
(£ 240,000)




2 (200) = EKIE B (230)RENAHS Mg (234) =2 Eel )
Jj_f % pSNE N
4k ot e | HImEZ & & =
S - 0l L =]
O NYASE = S2FHI (W) A 200,000,000 X 99.64/100 199,280
O A+BZ S22X AALEIAL 100,000,000 X 99.37/100 99,370
O =:AYBLAES2 DA 42,000,008 X 14! 42,000
O SFA HHE(OIE, 20, &2)A82 FUEY SA(A el
60,000,0008 X 99.28/100 59,568
O JtS0iHl SHE HAAL SEBA
1,300,000,0008 X 14 X 99.64/100 1,205,320
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2+ (200) At

CENE & (230) S TIAIFS Mg (234) 722 (&9 @8
n =
—— = - e | L0 | w2 4 &2 9 =
500,000,000& X 14 = 500,000
O orE el Z2(QBe) XWASE HEETA(L=4,000n)
100,000 X 4,000m X 99.28/100 = 397,120
O &= csie| (S0, HONHSRE A ZAHL=3,500n, JIAE 2IH4)
200,000& X 3,500m X 99.37/100 = 695,590
O ZJ1S SH2RI(RMO0)) Xga+E & T AH(L=4,000n)
100,0002! X 4,000m X 99.28/100 = 397,120
O Bmap SHI2(YH) HAZ2 WETA(L=1,000m, IHSE 1)
200,000& X 1,000m X 99.28/100 = 198,560
O 18sS OHXNUZRH =4 =22 & S AHL=600m)
100,000& X 600m = 60,000
O JEZ4E SHA S22 FUIZAHL=1,000m)
200,000& X 1,000m X 99.28/100 = 198,560
O B0 871121(2H) KP4+ HE 2 AH(L=4,000n)
10,0002 X 4,000m X 99.28/100 = 397,120




2 (200) HEHKS & (230) S TIAIFS Mg (23) 2= (£9: @ 8)
¥ o=
—— = - e | L0 | w2 4 &2 9 =
S4pl DI0a|(SRA) KYAHAT FESTAHL=4,000)
100,000& X 4,000m X 99.28/100 397,120
O ME1|(HE) NLa=E 2EH I AHL=3,000m)
100,0002! X 3,000m X 99.28/100 297,840
H40 S2121(B4) NYNSE 2ETAHL=4,000n)
100,000 X 4,000m X 99.28/100 397,120
S0l ZHI2(HB) NYNSE SFTAHL=3,000m)
100,000 X 3,000m X 99.28/100 297,840
2 E HAX AU (QIASH, SdHIZSSH S) 30,000,000& X 14 30,000
NIRI(Z%, 21, &8, 24) L2 WA
2,000,000,000& X 1Al X 99.64/100 1,992,800
SH, HEND H2E S48 MDA
150,000& X 4,500m X 99.37/100 670,748
MAG AEE B2 AAY 7= 420,000, 0008 X 14 420,000




2t (200) 22X K= & (230)RENAMFS M&: (234)2&F2 (el &)
ﬂ" g 0:”}\"0” @Lj_“:_ H|—,Xj|. /\l‘ = —
2.8 N g = - Ofl &b o4 ree S
O L:a2 J12dE 218 %2l 5,000,000& X 30702~ = 150,000
O S|, da 7Y SEASY 200,000,000& X 14 = 200,000
O HLEMAAIAE2te]
[DIEFSZF]
b= K (5,9K1 ) AL = 300,000& X 50m" X 2K X 14 = 30,000
[(EJIELZ]
ZIIFKRI(1,2K) OIBFAF WA 300,0002 X 200m X 2K X 14! = 120,000
76,780 71,493 5,287 401-03 (AIE20HYl)
S2A (=5 U BA) 3= SFXHZAF 3,908,000,000& X 0.27/100 = 10,552
O SHEMESLIHLAE (0|AH LA
1,429,000,000& X 0.36/100 = 5,145




2 (200) HE XX S 5t (230) RS M (234) 7S (Er9): &)
ol = e
Aro v mE=E] N S

S— - ] Sl | B =]

O SHEMBSLNLAIY (242 D47ASE)
1,000,000,0002 X 0.63/100 = 6,300
O ReX4T NTHLHIAE &X A 1,671,000,0002 X 0.36/100 = 6,016
O U42XY =2 2AMMAY 220,000,008 X 0.72/100 = 1,584
O LBHET AlLINLAY 800,000,000& X 0.63/100 = 5,040
O JISUH SHE AL SEIA 1,300,000,0002 X 0.36/100 = 4,680

O o8 222(22Y) NYALE HSTA

10,0002 X 4,000m X 0.72/100 = 2,880

O 20 S (D0, HODWAZZ HaDA
200,0002 X 3,500m X 0.63/100 = 4410
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B (200) HHEH KIS 5t (230) R E KHAHE S Mg (234) 252 crome)
f B
—— a - 0l & 94 ﬁigj HDs2 I -
100,000& X 3,000m X 0.72/100 = 2,160
O AK(YE, 2|, 22 24) 22 A
2,000,000,000& X 14! X 0.36/100 = 7,200
O 58, IIEXF &% B8 MM 150,000€ X 4,500m X 0.63/100 = 4,253
237
SIETE 30,500 30,500
405
AAFHSHIS 30,500 30,500
30,500 30500 | 405-01 (KkarzISHI)
O Huet)] DH(EEZ AIRA 4,000,000& X 1CH = 4,000
O duet)] DH(E4Z A 4,000,000& X 2CH = 8,000
O dutet)] DAH(EE2 Mo A 4,000,000& X 1CH = 4,000
O L) T (HAF ARA) 4,000,0008 X 104 = 4,000
O XA X 22 A=) 3,000,0008 X 29 = 6,000
O MR IR 300,008 X 150 = 4,500




ESPNES 8. (280)HI 7S M & &t Mg (282) 8 2R 2248t (&9 &
28 A = . Ofl & O ree = = =
280
HesSEMAs 985,000 1,510,000 /525,000
282
JEXNUS S 4E 925,000 400,000 525,000
601
2S4S 925,000 400,000 525,000
925,000 400,000 525,000 [ 601-02 (ANZFRXEMEIN 2L Z)
O XY= stz 34
[DIEH+=X &X]
2010 Xtgd 2,000,000,000& X 1/5 = 400,000
[A4CF>3 SESAH
201748 X 1,050,000,000& X 1/2 = 525,000
289
JIEtHI S s 2 &t et 60,000 1,110,000 21,050,000
612
JEtHl S s 2 M Atst 60,000 1,110,000 21,050,000
O S3X3&eDI=3 8z AZ&E
20048 = M FHLIASH(IHE) 600,000,000& X 1/10 = 60,000
800
(0:Ns]Rs]] 406,709 432,392 /N25,683
800
(0:Ks]Rs]l 406,709 432,392 /\25,683
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(200) Mt =X K= &t : (800) 0l HIbHI MIEt: (800)0ilHI Bl
& = A} OH HEE =2 At = =
801
ol gl gl 406,709 432,392 A 25,683
O oyl gl 406,709,000& = 406,709




